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= WYKOP - NAEYP WYKOP - NAEYP o WYKOP - NAEYP N WYKOP - NAEYP WY{(OP NASYP +
1 2 3 4 5 6 7 8 9 10 11 12 13 14
59,6 0,0
o1 _0.00 2.00 2.00 2,1 0,0 2838 | 596 0,0 0,0 59,6 0,0
24,1 0,0
o1 2838 L2l .02 1,4 0,0 1721 | 241 0,0 0,0 24,1 0,0
93,0 0,0
U I S L6 .03 1,8 0,0 5165 | 93,0 0,0 0,0 93,0 0,0
26,0 0,0
ol 272 122 0.01 11 0,0 2367 | 26,0 0,0 0,0 26,0 0,0
88,2 0,0
o1 12091 L 10 .02 1,8 0,0 49,00 | 882 0,0 0,0 88,2 0,0
92,3 0,0
o1 16901 | 162 9,06 1,8 0,0 51,25 | 92,3 0,0 0,0 92,3 0,0
60,7 0,0
o1l 22Llo L 120 .03 1,2 0,1 5518 | 662 5,5 5,5 60,7 0,0
83,6 0,0
o1 27033 L _02] L1 1,7 0,1 5222 | 88,8 5,2 5,2 83,6 0,0
94,4 0,0
o 2836 | 290 9.00 1,9 0,0 49,66 | 94,4 0,0 0,0 94,4 0,0
4,9 0,0
01 37822 L 003 0.01 0,3 0,2 49,04 | 147 9,8 9,8 4,9 0,0
23,4 0,0
01 42720 L 004 .33 0,7 0,2 46,80 | 328 9,4 9,4 23,4 0,0
65,2 0,0
01 47400 L 088 %16 1,2 0,1 5027 | 71,1 59 59 65,2 0,0
60,8 0,0
01 23333 L 13 2.06 1,8 0,2 3709 | 684 7,6 7,6 60,8 0,0
35,0 0,0
Ol o713z L 20 0.26 1,4 0,4 3502 | 49,0 14,0 14,0 35,0 0,0
34,4 0,0
01 00633 L 084 9.3 1,1 0,3 42,99 | 473 12,9 12,9 34,4 0,0
24,0 0,0
U SRR . P LD 0,9 0,5 5004 | 539 30,0 30,0 24,0 0,0
o | 70027 | 050 0,73 0.0 42,1
: : : 0,4 0,9 8420 | 337 75,9 337 0,0 42,1
0,0 0,0
oL D356 1 033 L0 0,0 0,0 0,00 0,0 0,0 0,0 0,0 0,0
o | 000 0,00 0,00 8694 42,1
0,0 30 | 79356 | 10035 | 1762 | 1340 | se94 | 421




